Aoknon 9"
Yroloyiouog oyxov

AZ 80,1 AZOO A240 A280,2

Ioodibotaon (Ah): 40m

Métpnon eufoood ue tetpaywviko kavofo

n : TAPN TETPAYOVA

n’: HePKA TETPAyVaL

n, 2
A=(n+—)d
( 2)

d : M 160moyn ToL Kavapou

(d = 5mm)




n+— d? A

Agge 168 0,25km? 42km?
Asso 122 0,25km? 30,5km?
Aggo 29 0,25km? 7,25km?
Asgos 22 0,25km? 5,5km?
Ay 13 0,25km? 3,25km?
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V, =200 20 5 20 Ah = 1,45km’ A
Vs =—2h,,,=0,024km’
Angot Aggy+ Ao 3
V,+V, =2 : 2 Ah =0,865km?

A
A A V, = 2380’2 h305= 0,046km’
v, =yAh =0,21km?

V =2,595km?



